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Solve the Word Problem

1) Ethan's coin collection had 267 coins. He added 89 new coins and
then gave 34 coins to his brother. How many coins does Ethan have
now?

2) The school cafeteria prepared 345 lunch bags. After serving 289
lunch bags, they prepared 67 more. How many lunch bags do they
have now?

3) A farmer harvested 756 kg of corn. He sold 498 kg at the market and
then harvested 245 kg more. How many kilograms of corn does the
farmer have now?

4) Olivia read 78 pages of her book on Saturday and 94 pages on
Sunday. If her book has 210 pages, how many pages does she have
left to read?

5) The community garden grew 567 tomatoes. They donated 289
tomatoes to a food bank and then harvested 134 more. How many
tomatoes do they have now?
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